IB MC presentation
1. Which of the following statements are not true

Globalization emphasizes corporate interests

Doesn’t account for working class interests

Globalization doesn’t emphasize corporate interests

China and India account for just less then 1/5 of worlds total output

2. In 2004, 10% of everything imported by Wal-Mart to the United States from which of the following country?

(a) Canada

(b) India

(c) United States

(d) China
3. Which are the following cultural impacts of globalization?

(a) cultural assimilation

(b) negative views towards other cultures

(c) ethnocentric views

(d) all of the above
4. In 2000, the Korean government announced that they were negotiating an FTA with which country?

(a) Chile

(b) United States

(c) China

(d) Canada

1. Name the biggest challenge faced by ICS (International Centre for Students):

a. Shortage of Volunteers

b. Shortage of International Students

c. Advertising problems

d. Interference by Obi Wan Kenobi

e. All of the above are problematic

2. “Buddies” are:

a. Paid by the University

b. Student Volunteers

c. International/Exchange students

d. Employees of Immigration Canada

e. Two of the above

3. Social Skills workshops include:

a. How to Go to a Party

b. Cultural Adjustments

c. Getting to Know Canadians

d. Canadian Customs

e. All of the above
4. VEPP stands for:

a. Volunteers English Participation Program 

b. Volunteer English Practise Program

c. Volunteers Enforcing the Practise of Partying

d. Variety Educational Participant Program
1. Which of the following is the most popular form of transportation in Vietnam?

 

a) The public bus 

b) Railways

c) Navigable waterways

d) Motorcycles

2. How many members in the national assembly of vietnam?  
a) 496

b) 497

c) 498

d) 499

3. Vietnam is currently the largest producer with a one-third global share of which of the following?

a) Cashews                               answer: a)
b) Rice

c) Rubber

d) Tin

4. Every ethnic group in Vietnam has its own style of clothing.

a) True     b) False                      Answer: a)
1) How has globalization affected poverty?

a. The absolute level of poverty in the world has decreased;

b. The level of poverty in countries that have reduced trade restrictions has decreased;

c. The level of poverty has remained relatively constant;

d. Trade barriers help to reduce poverty because they allow for decreased competition from foreign producers.


2) Free trade zones allow for

a. Cheaper inputs;

b. Elimination of most trade barriers;

c. Increased competition within the trade zone;

d. Only a and b;

e. All of the above.


3) Which statement does not represent globalization in the developing world?

a. Increased life expectancy;

b. Reduction in infant mortality rates;

c. Rising income per capita;

d. Higher tariffs.


4) How can globalization keep interest rates low?

a. Decrease in the money supply;

b. Allows for FDI which increases the money supply;

c. Globalization decreases foreign direct investment which increases money supply;

d. Interest rates are determined by the bank wanting to make a profit, and globalization has no effect.

1. How did Rio get such a large African population?

a)       Slave Trade
b)       Immigration

c)       War Refugees

d)       Born in brazil

2. Corruption and Policing are major issues in any city.  Which city has some of the highest crime rates in the world? 

London, UK 

Rio de Janeiro, Brazil 

Mexico City, Mexico 

Johannesburg, South Africa

3. Which Latin American country has the most influence in the region?

Venezuela 

Argentina 

Mexico 

Brazil

4.The Etadio do Maracana holds what World record?

a)      Attendance

b)       Longest Match

c)       Beverages Sold

d)       Biggest Brawl

Business Etiquette:

1.  Which of the following statements about Brazilian business  etiquette are 

true?

1) It is recommended that you change your negotiation team during a 

long 

negotiation with a Brazilian company.

2) Do not worry about giving gifts at professional meetings and other 

situations in the workplace.

3) The best way to address your boss in a Brazilian company is by 

his/her first 

name.

4) The most effective way to communicate with Brazilian partners is by 

e-mail.

a) Sentences 1 and 2 are true.

b) Sentences 1 and 3 are true.

c) Sentences 2 and 4 are true.

d) Only sentence 2 is true.

e) None of the above are true.

2.  What of the following are true about business etiquette in Japan?

I – Business cards are very important.

II – It is good to display money.

III - Open displays of affection are frowned upon.

a) Just one alternative is true

b) Two alternatives are true
c) All of them are true.

d) All of them are false.

3.  Which of the following behaviours is not considered to be 

appropriate in 

Canadian business?

a) Arriving early for a meeting.

b) Engaging in small talk before the meeting.

c) Interrupting somebody during a meeting.

d) Giving a person from English-speaking Canada more physical space 

than a 

person from French-speaking Canada.

4. In Finland, it is important to look somebody in the eye while 

talking to 

them.

a)  True

b)  False

1. Pricing in London, England is:

     a)less than Canada

     b)more expensive than canada

     c)relative purchasing power of parity appears to hold true

     d)b and c

     e) a and c

2.  In London, England a Zebra Crossing is also known as:

     a) the street

     b)a crosswalk

     c)the sidewalk

     d)none of the above

3. The business culture in London, England tends to value:

     a)age over experience

     b)experience over education
     c)education over experience

     d)education only

4.  The Government in London is:

     a)a two tier system: both strategic and local
     b) only strategic level

     c) only local level

     d) only the Queen of England
Multiple Choice Questions For Paris Presentation
Whe was Paris Founded?

a) Between 750BC and 700 BC

b) Between 250 and 200 BC

c) In 580 AD

d) In 45 AD

2) What is the former name of Paris?

a) Lugdunum

b) Galica

c) Lutetia

3) What is the slogan of Paris’s crest?

a) Rock but does not sink

b) Float but never sink

c) Sails ahead and never sinks


4) How many tourists come to Paris each year?


a)  26 million


b) 32 million


c) 10 million


d) 16 million

